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General Instructions:

& All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

Use of calculator is not permitted.

EUS-37 / SECTION-A
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Question numbers 1 to 4 carry one mark each.
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Find the value of (14641)0-25.

TR p(x)=(x—1)(x—2) + (2—x) (3—x) 1 =1 fafEy | & b Ay
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Give the degree of the polynomial p(x)=(x—1)(x=2)+(2—x) (3—x)

# T agfa i, AB 1 HA-fag O ¥ T4 /BQO=ZAPO®| LOAP fofd Fi1 % e &7 1
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In the given figure, O is the mid-point of AB and ZBQO = ZAPO, then ZOAP is equal to
which angle ?

¥ fiig (faigsil) & Fderi® a1 20 S fF v-a9a 91 g fown & € ofR 9w foig 9 5 396 &1 g0 1
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What are the coordinates of the point (s) which lie on positive direction of x-axis and 5 units
away from the origin ?

EUus-d [/ SECTION-B
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Question numbers 5 to 10 carry two marks each.
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TOFEE H @ 322+ 11x —4
Factorise: 3x2+ 11x —4

Ife p,Q SRR TRt Y w < fiig fea & qen Q feigadl p el R % v ¥ fiuq B, o1 fag #ifsg
f& PQ+QR=PR ¥ (3fT =1mfq) |
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If P, Q and R are three points on a line and Q lies between P and R, then prove that
PQ -+ QR=PR (see figure).

P QO R

s Iys ABC %sﬂﬁsaﬂzcﬁm:ﬁtgaumaﬁAcaﬂtABmaﬁBE AR CF @id 7T €|
afe BE=CF %, 71 fag Hifwe i AABC T @nfgamg s 31

From the vertices B and C of a AABC, perpendiculars BE and CF are drawn to the opposite
sides AC and AB respectively. If BE=CF, prove that AABC is isosceles.

ARRE HES W A4, 5) I o wif  we &, 39 fig F ox - s S
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Plot A(4, 5) on the graph paper. Also, plot the reflections of this point in

~ x-axis and y - axis.

10

Page 30f 9

Ifz w s+ Wzacm,zsmaﬁﬁﬂm%,ﬁlm%wmaﬁﬁm

If the sides of a triangle are 26 cm, 28 cm and 30 cm, find the area of the triangle.

WUS-H [ SECTION-C
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Question numbers 11 to 20 carry three marks each.
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: 3
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Simplify : % 486 — g

. 3
2+I+r%awqﬁﬁﬂwaﬁml .

4
Rationalise the denominator of —————
: V4+13 +J 7
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a a a

A
Find the product of [a = l)(a 4 1 j{a‘ 4 -l-]( at %J using a suitable identity :

a

e IYE FEaHE F 3TN B 8Y, AF Fefee (—28)3 +(9)3 +(19)° 3

Using a suitable identity, evaluate : (—28)%+(9)3 +(19)3

qfaere & 5 o sItayron S fafew) s 78 sfyyron gaim el & ofas w1 sifas fuifa 3
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Write.Euclid‘s Fifth Postulate. Does this postulate imply the existence of Parallel lines ?
Explain.

ferst , 3@ 1, A 1 GAIGHIS § a9 | W HE f9g BE1 BP 3R BQ, foig B 4 iw A w1 yemsil 3
R &S M e 1 giee R - (i) AAPB =AAQB R (ii) BP=BQ |
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In the given figure, line [ is the bisector of an angle ZA and B is any point on [. BP and BQ are
perpendiculars from B to the arms of ZA. Show that (i) AAPB =AAQB and (ii) B = BQ.

Q =

HﬁWAB,CDﬁEF,MﬁWWﬁWWR ﬁ{‘gowﬁwﬁ%t x,y,zamua’-’:{ﬂ 3
T HIT |

Three lines AB, CD and EF mre. at a point O, forming angles as shown in the figure. Find the values of
X, ¥, zand u.

e &) wwiar Tarell &) ufdese sid oidl el fade W & Uk € iR o Sl a1 U 3 3
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If two interior angles on the same side of a transversal intersecting two parallel lines are in the ratio 3 :
2, then find the greater of the two angles. ) -

ARG FS W, Th f&6g P2, 4) F ifEd FISQ| o7, x-3& 3R y-3781 § P & WAl 1 3
aaifigd HIFTT g1 38 %A Q 3R R ¥ =490 ®ifag | 38 YR a4 s PQR & YR &1 91
ECiEed

Plot a point P(2, 4) on the graph paper. Now, plot reflections of P in x-axis and y-axis and
denote them as Q and R respectively. Name the type of triangle PQR so formed.

=q¥s ABCD & TR % TF B 1 &het 7 i, f5ed AB = 35m, BC = 75m,CD = 60 3
m, DA = 66 m 3R ZCDB = 90° €1

Find the area of a quadrilateral field ABCD in which AB=35m, BC=75m, CD = 60 m, DA
= 66 mand £ZCDB = 90°.

©us-q / SECTION-D

UEH HEN 21931 A TEH H 4K G
Question numbers 21 to 31 carry four marks each.

0.3178 #I p/q % FY H =& HIT, &I pﬁq{”ﬁ??ﬂ%gfﬂ%l 4

Express 0.3178 in the form of p/q where p and q are integers and g #0.

31 31 srufa denedi =l fafay, fom . 4
(i) ¥R TH FEHE G@ gl :
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(iii) UM U ufeTE e
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Give an example of two irrational numbers whose :
() difference is an irrational number

(ii)  sum is an irrational number

(iti)  productis an irrational number

(iv)  division is an irational number

~ Justify also.
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If the polynomial 53> +4x?—31x+a, is exactly divisible by x—2, then find the value of a.
Hence factorise the polynomial.

afgx+ L =6 A xd+ L AT W HOAY
x -

X

If x+ l =6, find the value of x*+ “13.
i x

IqfE x + 4 5G9 13 — 12 — 14x + 24 Tl TF PHES T, T 3T 37 OHEE 1A Hifog |

If x+4 is a factor of the polynomial x> — x?— 14x + 24, find its other factors.

afe x=2—y ¥, T TAEC TR 3+ 6xy+y2 —8=07|
If x=2—y, then show that x3 + 6xy+ y> —8=0.

T AT TR 3§ WA FErEdl e H G T S HETE | YehTe ¢ Tge R SHI Far i
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Rehman and Prakash contributed equal amount towards Prime Minister Relief fund. Prakask and

Rahul contributed equal amount towards Prime Minister Relief fund. If Rahul Contributed ¥ 500 how
much Rehman contributed ? What value they all are exhibiting by doing so ? Which Euclid Axiom help
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in reaching the correct answer ? State any one more Euclid Postulate.

28w i UR W@@E] 5N O SEW ¢ FW qgYS & I TErEvS! & aersdl did WWave B 4
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"A square is a polygon made up of four line segments, out of which, length of three line segments are
equal to the length of fourth one and all its angles are right angles".

Define the terms used in this definition which have been highlighted/underlined.

29 oz & wHid el w1 U fade e wed 8, d@ fag S 6 S S wi & aaigasel Sl 4
T § T 3G T8 |

If two parallel lines are intersected by a transversal, prove that the bisectors of two pairs of
interior angles form a rectangle.

30 < g8 sl H, x %1 7 T FI, afg AE st ABC % &I A &1 SHfgIS® € Gl ADIBC®1 4

B C

In the given figure, find the value of x, if AE is the bisector of angle A of the triangle ABC and
AD1BC.

31 Prove that the sum of three angles of a triangle is 180°. Using this result, find the value of x 4
and all three angles of triangle, if the angles are (2x+7)°, (2x— 25) ° and (3x —12)°.
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